Z-PRO A—FAITAIASNSYT vusp D7

VIS T Ba8flL e X0 TOY~N

EiSE OREON -BERNRNARERKRI—TsVITMHANAL!
o UK REDIERCEDDLTFDOHHALEPEIERZEBL. RFEHRUEIEERERR!
o2 REIOVILULRIELCLDBEESTERHUEZRRL.UDLSFDRILIAODTFiE%E
TEXI! SHICMIBUNDNEEDEHDER OMRBEDTEET T .

E=TE BN R LSRR

30 %4 sk |mme| L | L | fn| €s | Ds | gp lyvpe| oA SH

M3 X 0.5 P2 1101101035 2.5P 56 5 18 32 4 3 1 2,900

M3 X 0.5 P3 1101201035 2.5P 56 5 18 32 4 3 1 2,900 ‘

M3 X 0.5 P4 1101301035 2.5P 56 5 18 32 4 3 1 2,9008‘

M3 X 0.35 P2 1101101036 2.6P 56 5 18 3 32 4 3 1 4,070

M3 X 0.35 P3 1101201036 2.5P 56 5 18 32 4 3 1 4,070&

M3 X 035 P4 1101301036 2.5P ; 56 5 18 32 4 3 1 4.070iit

M4 X 0.7 P2 1101101042 2.5P 63 7 21 36 5 3 1 2,850

M4 X 0.7 P3 1101201042 2.6P 63 7 21 36 5 : 3 1 2,850

M4 X 0.7 P4 1101301042 2.5P ‘ 63 7 21 36 5 3 1 | 2,850& N

M4 X 0.5 P2 1101101043 2.5P " 63 5 21 36 5 | 3 1 3.560

M4 X 0.5 P3 1101201043 25P | 63 5 21 36 5 3 1 3,5606‘

M4 X 0.5 P4 1101301043 2.5P 63 . 5 | 21 36 5 3 1 3,5602‘S

M5 X 0.8 P2 | ”11011010.;5 ------- 2.5P 70 9 25 40 5.5 3 1 2,880

M5 X 0.8 P3 1101201049 2.5P 70 9 25 40 5.5 3 1 2,880

M5 X 0.8 P4 1101301049 2.5P 70 9 25 40 55 3 1 2,880¥

M5 );;5 S T P2 1101101051 2.5P 70 6 25 | 40 5.5 3 ’ 1 3,690

MS X 0.5 P3 1101201051 2.5P 70 6 25 40 5.5 3 1 3,690i

MS X 0.5 P4 1101301051 2.5P 70 V 6 K3 2; \ 40 5.5 3 1 3,690“

M6 X1 P2 1101101055 2.5P 80 11 30 45 6 3 1 3,180

M6 X 1 P3 1101201055 2.5P 80 11 30 45 6 3 1 3,180

Mé X 1 P4 1101301055 2.5P 80 11 730 ;5 6 73 1 3,180’e

M6 X 0.75 P2 1101101056 2.5P 80 8 I 30 45 6 3 1 4,190

M6 X 0.75 P3 1101201056 2.5P 80 8 30 45 6 3 1 I “4:190§

Me X 0.75 P4 1101301056 2.5P 80 8 K 30 45 6 3 1 4,190“
[ aA-rwax - H=REAER (B EER)

Think threads with
DX YAMAWA



TYPE:1 TYPE:2
Ds Ds

Zn £s 2 s

A
N
A

WU @ maa—r  |#fs L | L | 40| s | Ds | m tyee| oA RE
M6 X 0.5 P2 1101101057 2.5P 80 8 30 45 6 3 1 4,190
M6 X 0.5 P3 1101201057 2.5P 80 8 30 45 6 3 1 4,190"
M6 X 0.5 P4 1101301057 2 5P | 80 8 30 45 6 3 1 4.190"
M8 X 1.256 P3 1101101064 2.5P 90 12 - 46 6.2 3 2 4,190
M8 X 1.25 P4 1101201064 2.5P 90 12 — 46 6.2 3 2 4,190
M8 X 1.256 PS5 1101301064 2.5P 90 12 = 46 6.2 3 2 4,190"
M8 X 1 P3 1101101065 2.5P | 90 12 - 46 6.2 3 2 4,950
M8 X 1 P4 1101201065 2.5P 90 12 = 46 6.2 3 2 4,950"
M8 X1 PS5 7‘1v1-01301065 2.5P 90 12 = 46 6.2 3 2 4,950"
M10X 1.5 P3 1101101078 2.5P | 100 13 - 51 1 3 2 5.290
M10X 1.5 P4 1101201078 2.5P | 100 13 - 51 7 3 2 5,290
M10X 1.5 P5 1101301078 2.5P | 100 13 = 51 7 3 2 5,290"
M10X 1.25 P3 1101101079 2.5P 100'1 13 = 51 7 3 2 5,290
M10X 1.25 P4 1101201079 2.5P | 100 13 = 51 7 3 2 5,290
M10X 1.25 P5 1101301079 2.5P | 100 13 - 51 T 3 2 5,290"
M10X 1 P3 1101101080 2.5P | 100 13 = 51 7 3 2 6,280
M10X 1 P4 1101201080 2.5P | 100 13 - 51 7 3 2 6,280"
M10X 1 P5 1101301080 2.5P | 100 13 = 51 7 3 2 6.280"
M12X 1.75 P4 1101101088 2.5P | 110 15 - 56 8.5 3 2 6,900
M12X 1.75 P5 1101201088 2.5P | 110 15 = 56 8.5 3 2 6,900
M12X 1.75 P6 1101301088 2.5P | 110 15 - 56 8.5 3 2 6.900"
M12X 1.5 P3 1101101089 2.5P | 110 15 = 56 8.5 3 2 6,900
M12X 1.5 P4 1101201089 2.5P | 110 15 - 56 8.5 3 2 6,900
M12X 1.5 PS5 1101301089 2.5P | 110 15 = 56 8.5 3 2 6,900"

[ |ut—ryax = ERER (REEER)

P YAMAWA



TYPE:3

Ds
==<)
| ~ =<
-
L Zn e £s
" L
mo | wa | manr [am| k[ L[ & [ 85 [ B [we [vee] LR
M12X 1.25 P3 1101101090 25P | 110 15 = 56 | 85| 3 2 6,900
M12X 1.25 P4 1101201090 | 2.5P | 110 | 15 = 6 | 88| 3 2 6,900
M12X 1.25 P5 1101301090 | 2.5P | 110 | 15 = 56 | 85| 3 2 6,900™
M14X 2 P4 1101101100 25P | 110 | 18 - 56 | 105 | 3 2 9,450
M14X 2 P5 1101201100 2.5P | 110 | 18 - 56 | 10.5 | 3 2 9,450
M14X 2 P6 1101301100 25P | 110 | 18 - 56 | 105 | 3 2 9.450"
M14X 1.5 P3 1101101102 25P | 110 | 14 - 56 | 10.5 | 3 2 9,450
M14X 1.5 P4 1101201102 25P | 110 | 14 s 56 | 10.5 | 3 2 9,450
M14X 1.5 P5 1101301102 2.5P | 110 | 14 » 56 | 10.5 | 3 2 9,450"
M16X 2 P4 1101101114 2.5P | 110 | 18 - 56 | 12.5 | 3 2 12,300
M16X 2 P5 1101201114 25P | 110,| 18 - 56 | 12.5 | 3 2 12,300
M16X 2 P6 1101301114 2.5P | 110 | 18 - 56 |12.5 | 3 2 12,300"
M16X 1.5 P3 1101101116 25P | 110 | 14 - 56 | 125 | 3 2 12,300
M16X 1.5 P4 1101201116 2.5P | 110 | 14 - 56 [12.5 | 3 2 12,300
M16X 1.5 P5 1101301116 25P | 110 | 14 = 56 | 125 | 3 2 _—_—
M18X 2.5 P5 1101101128 2.5P | 125 | 20 - 64 | 14 4 2 15,500
M18X 1.5 P4 1101101130 25P | 125 | 14 - 64 | 14 3 2 15,500
M20X 2.5 P5 1101101141 2.5P | 140 | 20 - 71 |15 4 3 22,400
M20X 1.5 P4 1101101144 25P | 140 | 14 - 71 | 15 3 3 " 22,400
M22X 2.5 P5 1101101156 2.5P | 140 | 20 2 71 |17 4 3 27,000
7|\7/|22x 15 |;4 - 1101101158 2.5P | 140 | 14 - 71 1;_ 37 ) 3 27,000
M24X 3 P5 1101101167 2.5P | 160 | 25 = 82 | 19 4 3 32,900
| M24X 1.5 P4 1101101170 2.5P | 160 | 18 - 82 | 19 3 3 32,900

l
[ sA—sswex

H=RERXBR(ZETEER)

Think threads with

YAMAWA




| 7 s
TYPE:4 (AX%) TYPE:5(O>%)
= Ds Ds
==t +—T = — W -~ &
<+ e P
. &n ; £s L, 4s
S—— ; L

92 we | meax (mer |4 & &% mm ree] s
M3 X 0.5 P2 2101101035 2.5P 100 5 18 32 4 3 4 5,260
M3 X 0.35 P2 2101101036 2.5P | 100 S 18 32 4 3 4 7.370‘
M4 X 0.7 P2 2101101042 Z.5P 100 7 21 36 5 3 4 4,800
M4 X 0.5 P2 2101101043 2.5P | 100 5 21 36 5 3 4 6,240'
M5 X 0.8 P2 2101101049 2.5P | 100 9 25 40 8.9 3 4 4,310
M5 X 0.5 P2 2101101051 2.6P i 100 6 25 40 6.6 3 4 5,390”
Me X 1 P2 2101101055 2.5P 100 1" 30 45 6 3 4 4,410
M6 X 0.75 P2 2101101056 2.5P | 100 8 30 45 6 3 4 5,520
M6 X 0.5 P2 2101101057 2.5P | 100 8 30 45 6 3 4 5.520*
M8 X 1.25 P3 2101101064 2:5P 1480 | #2 - 46 6.2 3 5 7,600
M8 X 1 P3 2101101065 2.5P 150 12 - 46 6.2 3 & 8,740
M10X 1.5 P3 2101101078 2.5P | 150 13 - 51 7 3 5 8,890
M10X 1.25 P3 2101101079 2.5P | 150 13 - 51 7 3 5 8,890
M10X 1 P3 2101101080 2.5P | 150 13 - 51 7 3 5 10,300
M12X 1.75 P4 2101101088 2:5P 150 15 - 56 8.5 3 5 10,600
M12X 1.5 P3 2101101089 2.5P | 180 15 - 56 8.5 3 5 10,600
M12X 1.25 P3 2101101090 2.5P | 150 15 - 56 8.5 3 5 10,600
M14X 2 P4 2101101100 2.5P | 150 18 - 56 10.5 3 5 14,200
M14X 1.5 P3 2101101102 2.5P | 150 14 - 56 10.5 3 5 14,200
M16X 2 P4 2101101114 2.5P 1;50 18 - 56 12.5 3 5 14,900
M16X 1.5 P3 2101101116 2.5P | 150 14 - 56 12.5 3 5 14,900

DX YAMAWA

#=RERER (BFEEM)



